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Enrollment No: Exam Seat No:

Subject N

Subject Code: 4CO05BEN2

Semester:

C.U.SHAH UNIVERSITY

Winter Examination-2018

ame: Business Environment-I

Branch: B.Com (English)

5 Date: 30/11/2018 Time: 10:30 To 01:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.

(3) D

raw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

f)
9)
h)

)

K)

Attempt the following questions: (14)
From the geographical area India stands at which number? 1
(A)Fifth (B) Ninth (C) Seventh (D) Sixth
Which of the following institutes is included in the financial institutions? 1
(A)Private property Institute (B) Inherited Institute
(C) Competitive Institute (D) Above all
The equal business environment available to the world trading countries is due to 1
establishment of..............
(AWTO (B) IMF (C) ADB (D) WORLD BANK
In the business environment, especially at the global level.......... changes. 1
(A)Political environment (B) Economic environment
(C)Social environment (D) Political and economic environment
Which production is taken into consideration in the national Income? 1
(A)Total production (B) Gross production
(C) Net production (D) Average production
How many methods are there of measuring national income? 1
(A)Four (B) Two (C) Three (D) Several
How many sources are there of saving? 1
(A)Five (B) Seven (C) Three (D) Four
How is the saving rate in India? 1
(A)More (B) Medium (C) Low (D) Maximum
The process of capital creation is related with what? 1
(A)Saving (B) Profiting
(C) Investment (D) (a) and (c) both
Net saving of private sector can be found by deducting what? 1
(A) Production Cost (B) Taxes
(C) Dividend (D) Above all
How much was the share of industrial sector in Japan in 2003 in GDP? 1
(A)35% (B) 31% (C) 29% (D) 37%
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How is Indian economy?

(A)Tri- pronged  (B) Socialistic (C) Mixed (D) Democratic
Seasonal and disguised unemployment are which nature of unemployment?
(A)Rural (B) Urban (C) Cities (D) Cyclical
Which one of the following is the main reason of poverty in India?
(A)llliteracy (B) Unemployment

(C) High rate of population (D) Corruption

Attempt all questions

Define importance of estimates of National Income.

Explain causes of low saving rate.

Attempt all questions

Explain characteristics of Business environment.

Define “Competition” as the element of business environment.
Attempt all questions

Define “Demand” as the element of business environment.
Write a note on Source of Saving

Attempt all questions

Explain causes of Poverty in India.

Attempt all questions

Explain capital creation process through investment.

Explain the causes of low rate of capital formulation.
Attempt all questions

Define Liberal Industrial Policy.

Explain Urban unemployment.

Attempt all questions

Describe the overall adverse impact of unemployment on economy.
Define Indicators of poverty in India.
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